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GND vCC
o &<—— OC1C,0C0A,PB7 0CBB,PB6 [——>8
& — ©<—SCL,0CB®,INT0,PD0 OCI1APBS |——=5
3<— SDA,0C2B,INT1,PD1 0C2A,PB4 |——>=8
=5<—RXD1,INT2,PD2 MISO,PB3 |—>=8
E<—— TXD1,INT3,PD3 MOSI,PB2 [——>=
s<———/ICP1,PD4 SCLK,PBI|——>=
m<— XCK1,PD5 SS,PBO[——=
=<—— LED,T1,PD6 AIN1INT7,PE7 |——8
s<——1/ T0,PD7 AIN@,INT6,PE6 [——>8
s<——{PEQ GND@1|——>=
=<——— PE1 AREF |——>=8
e<——-o{/PCo ADCO,PFOQ [——>=
a<——o{PC1 ADC1PF1|——=8
s<——/PC2 ADC2,PF2|——=
s<—/ T3,PC3 ADC3,PF3|——=a
2<—0C3C,PC4 ADC4,PF4 |——>=8
2<—0C3B,PC5 ADC5,PF5|——=a
=<— OC3A,PC6 ADC6,PF6 [—>#&
e<——-/IPC3,PC7 ADC7,PF7 |——=
X— _RST PAQ[——>=®
X—— GND@2 PAl|——=
xX— vcce1 PA2 | ——=
PA3|——>=®
X—INT4,TOSC1,PE4 PA4 |——=8
X—INTS5,TOSC2,PES PAS |——>=®
PA6 |——a
PA7 | ——#8
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AREF<— —>PE1
GND@1<— —>PE@
PE6<—] ——>PD7
PE7<— —>PD6
PBO<—] —>PD5
PBl<— —>PD4
PB2<—] —>PD3
PB3<— —>PD2
+5V PB4<— —>PD1
PB5<— ——>PD0
PB6<— —>PB7
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Anode driver /\/RC/\/ Cathode driver
A1 CA { OUT IN}—>ps7
pra<—| IN T YT ouTl—4 | Al 8k2 /\/R\z/\/ Cathode driver
A2 CB { OUT IN|—>pa7
Pr<—IN ——— ouTl—= |5 /\/R\:’:/\/ 10k Cathode driver
A3 cc Lout IN |—=>Paa
PF2<—| IN ——— oUTH—¢ | A3 10k /\/RC/\/ Cathode driver
A4 cD {ouT IN|—>Pa3
PF3<—] N e OUTH—+¢ | A4 /\/R\E)/\/ 8k2 Cathode driver
A5 CE {out IN|—>pB3
PF4<—] IN ——— ouT}—+¢ | A5 10k /\/R\S/\/ Cathode driver
A6 CF {ouT IN|—>Pas
Prs<—[IN I ouTH—4 |46 /\/R\7/\/ 1ok Cathode driver
A7 ol {out IN|—>pBs
pro<— N I ouT—¢ |57 18k /\/R\B/\/ Cathode driver
A8 CH { ouT IN|—=>Pas
pr7r<—[N I ouTl—=e | g /\/R\Q/\/ 8k2 Cathode driver
A9 cJ {out IN |—>Pse
pc7<—]IN S ouT}—+¢ | A9 8k2 /\;{0/\/ Cathode driver
A0 CK {out IN|—=>PAs
pce<— IN — OUT|—+¢ | A10 /\/R\H/\/ 8k2 Cathode driver
A CM 1 ouUT IN}—>Pre
pcs<—| IN P OuTl—¢ | AN 18k /\;{2/\/ Cathode _driver
A2 CN {out IN |—>P84
pea<—IN I ouTl— |, /\;{:’}\/ 8k2 Cathode driver
A3 CP {out IN |
pcs<—[IN I ouTH—4 | 13 K2 /\/R{A)\/ Cathode driver
Al4 CR 1 ouUT IN}—>pB2
pc2<—{IN e ouT}—+ | Al4 /\/R{E}\/ 8k2 Cathode driver
A15  CDEC {out IN|—>PA2
pei<—[IN I ouThH—¢ | s 18k R16 Cathode driver
|
S ca B A o
+80V LKA  SKA[—X
R17 PD-16A070-4
™ +5V +190V +80V
T u2 D1
VIN vouT =
>
o7 e, o 48 N4764 100k
R20 °Ts ° Ty
P AAN— | ADJ VBI—x | ¥
1 lé R18
10 G G2
Té 100k
S

1364

o
P4
[©]

R 500mW

sven.killig.de/displays/Panaplex



+190V

¢old

@ B
Z6VSdN | N
(O]
2|
+ yoly
T 100l ZoLD __
AAAN——AAN |
_
loly aNo

Anode driver
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Cathode driver



